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* E#DRE-T-HEYIRL = n.times )
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: n.times { RENERYES |
times =%
I
each }
i B H > TLBEYELD loop{} TEGEIZIF
. . 10.times {
10.times print( "CAIZLIX¥n" )
‘10.t1’mes {print "%2I1F~ "; puts " Yee-ha! " }‘ }
10.times { ﬁ
print(""‘boliﬂ' " )I . i=0
) puts( Yee-ha! ) Ioop{
i=i+1
Lk LB A THEL print( "CA/I=5[E¥n" )
ntimes TiEE&NI-nE, XEBYRT , break if i == 10
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10.times { |1
print( i , "EIHOIAIZEIZ¥n" )

C:¥ruby>ruby sample.rb
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10.times{ |i|
print( 10 ** i, "¥n" )
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‘10.t‘imes {I[i|l print i; puts "%E"]’)\,ggg;
‘10.t1‘mes {I[i|l putsC "#{i} &EB" ) }L—» 3:55
‘10.t1’mes {1|j|l puts "’"*J}\ :
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n.times {|k| print( "

"k (10-k), "*"¢k, "¥n"
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n=10
n.times {|k| print( " "*(10-k), "*", " "*(9-k), "¥n" ) }
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L% times ZAHWNTENVTT &S times ZAWNTENVTT &
EVM: EF, 1AS100ETH tootmest Il | EVM: EF, 1AS100ETH tootimest Il
BYENFTEIO0TSLEE print( i, "¥n") BMENTTETO5SLEE print( i, "¥n")
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(0..9).eachq{ |i|
print( 10 ** i, "¥n" )
b

10.times{ |i|
print( 10 ** i, "¥n" )

}
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(5..10).each {[i]|

print( i, if i%2==0 then " (X{B%" else " IXFH" end,"¥n" )

(5..10).each {[il s =25

print( i ) e = 10
if i%2==0 then (s..e).each {|i]| T
print( " HEHK" ) print( i) Sl
else if i%2==0 then 7 A
print( " (FFH" ) print( " [X{@B%" ) |8:[&E#:
end else goﬁggﬁ
print( "¥n" ) print( " [XFH" ) -

} end

print( "¥n" )
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total=0 n=gets.chomp.to_i
(10..100).each { |i| m=gets.chomp.to_i
total +=i total=0
} (n..m).each { |i|
print( total ) total +=i
}
print( n, "M5", m, "ETOEE
", total )
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n=gets.chomp.to_i
(2..n-1).each { |i|
if n % i == 0 then
print( "OOTIEHYFEEA")
break

end \

> [break TA—TEHITHAELAHE]
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(-10..10).each{ [i|
print( i , " , j**2 , "y )

}

(10..-10).each{ |il
print(i, " ", **¥2, "¥n")

(n..m).each
n>m DHZEIF?

}
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11.times{ |i|/
print(ii / 10.0/, " " ,|(i/10.0¥*2.0 , "¥n" )
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(0..10).eachq{ |i|
print(i/ 10.0," ", (i/10.0)**2.0, "¥n" )
by

(0..100).each{ |[i]

x =i.to_f/ 100

print( x, " ", x**2.0,"¥n")
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total = 1 total = 0
10.times { il 10.times { [i|
total *= (i+1) total += (i+5)
¥ }
print( total + "¥n" ) print( total + "¥n" )
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AL DEYERBIZIEL,
s ruby [ZIFHAAA#BEEEL T, rand() BH 5D
» rand(n) &3 5L 0L EnFKFEDBHMEN—HF24 L
ICEmEND

irb(main):090:0> rand()

=> 0.0422245532019152
irb(main):091:0> rand(10)
=>7

irb(main):092:0> rand(100000)
=> 16339
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30. times { ‘30.times { print rand(2) } ‘
if rand() > 0.5 then
print( "17)
else BT HEICHRIRLYET
print( 70”) | T °° Sommeme et
end 11£111001001110001110110000110=> :30: : ::
1
30. times |

}

print( if rand() > 0.5 then “1” else “0” end )

i BELHO

s=0
loop{ ALt o6nEHEER |
s = rand(6)+1 o
break if s == . ABCLESh
- " n 5['\5 T J::) N
print('s , "¥n") (rand(10)+1)*100

b

(rand(10)+1)/10.0

(rand(5)+1)/10.0+0.5
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[10EMCAICEFIERTTST055L | =0
i=0
loop{
i=i+1
print(i, "EIBDZAIZHIEYN")
break ifi == 10

}

e FROBYELQ I

(100U FOBEMOMERDHZTOT T L |

i=1
total = 0

loop{
total +=i

break if i == 100
i=i+1

b
print( "&&tIX", total )
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times & loop M ER(1)

10.times { |1
print( i , "EIHOIAIZEIZ¥n" )

}
u

i=0

loop{
i=i+1
print(i, "BIBEDZAITLIEYN")
break ifi == 10

b

times & loop MEEHZR(2)
# (B HM>TSEYIRLEA)
10D~EFERTTHIOT L \

10.times{ |i| i=0
print( 10 ** i, "¥n") loop{
} print( 10 ** i, "¥n" )
break ifi == 10
i =i+l
¥
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times & loop MEA{R(3)
i (EEDTLR)

[ FREABLESEERDTOS S Lktimes EALNTEEASEL |

times & loop MES{%(4)
i (HEEQTLE)

[ FREABLESEERDTOS S Lktimes EALNTEEASL |

loop{ total =0
if i%2==0then |G o0xcouycEms loop{ ) IM5100ETOER D A5
print(i, "¥n") ||m~z total +=1i EERDD
end break if i == 100
break if i == 100 i=i+1
i=i+1 b
} print( "&&tIX", total )
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loop {
y=x**2
printf( "x=%d, y=%d¥n" , x ,y )
break if x > 10
X+=1
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